ny 1 1951 3 pd oo

TN — NTDM 27,708 72T 1N ReOw MPON 1am NTon 3 Sxw [ na
SN T 27 5D mpmw N NINT TP INDY 037 NT - SNmw LNomT
M - APH 37 TS %R O N - 2ne Opw wman HNS
SN PS5 39 ;monn 0% DI%N AN e a0 - W mENn ey

S5 o

(M 1357 :mmdnn owTa ;1 A5 R e o) T TN

e

OMP5 — DMp I AR NS - naw amn oMawd - o™maw nn

M7 - 73T% DI DWTIp WP RW NN R
"27 v nyY) XI01 27,1990 2ORVINDKRA DWIvOY
,IAR 727 1K LYY 23 HYRIYY (P2 2372 707

12717 199 WP YW nMInnaw

S mHvIa nYapnn IR TY
AN PAYa NPYNNM Nm HYPY wMan Paya nanmn
1,2 99 MHWITP 1INRI NIRA NPVY

MHYIPI "TNR 727 1NN
701 .009N 727 P2 DNV DN0N DNWIP YINN AT N0
M”MIPPNaY R ,0ORIN M7 P2 DWW Y9I 7171 YONvn Nt
MIVIPN THRN (R 1N0I) DRNNR 12T DI DIVIPR M
MVYAN Y9 172 ORI, 0NN NVIYY IR DY YV MYTH
MYTAN ANWRIN 7TNR 3T \INR NVHY / 10nw” RN
IR TPMIPHNN MVYNN MPNN TWPNT NYIAIN MOVVINNA
.mon
595 TIT1 MIR2 "TNR 927 INRY YV mMYapn mapya
M 9Y DAWIPNN DIRNNDRD IR DRIND 72T YV MIRIN
DR WNHNI MIMIR PR 99 7171 HRD MYapn van
DIMYTY DNIONY NONYNA NOMWYNN 1apwan NN
NTIPI NN PAITRI YIAPY HP TN AT PR I APYY ,MIvIpn
.DYVP DMK NAMWYNN NapYNN

w oW %

01973 ;7 A95R qwnn mwnn vopTa) T ebh
(7 195 bnn

mawn
717D TIIXY MM 123 OR - BNSWH — BMISW AN
QoM 9% MIYnR (e N 1THw INRYY 00w
2% ININD — S AN .0MINR DMAW 117TDY MR
INNW 71,0701 MW 173 NITEY NIV 133 OR VIR -

SRTALEI

IMIR D9IN) NIW *H3% RIN DI IMNY 7,7 1971Y Nwna
IMIR D2IN) NATNA PIPY IR (WTPNRY 09I q0IN 1N DOWVIN
N211% Mm%y YT

(DY) DY — 192 92992 MDY 20T MNYT 5Y 1 0o1vem)
°T1 Sw 175031 IMINW) 112 °27°2 707 27 Hw Ny
M2 D22 RTINX OH91Tan) DN ,(7amb 1vo»
7972 RMMR ,NTD 72) MYPSN 9239 NN 29 (WK
1277 IR TR — N 98T RN Ihwhy (iR
W NIIMA Iva nenwn avT on? wr onwihww
TIW”I) PN = RIOF 29 .g0a% wnand owp
IXD YW [ (DOM7) - N9 (A :nbhwirn
IIRY ,RTON 27,712 °372 70P 021 YW nyIw)
W 95031 MDY 7T ,3P P YW mn? amnw
XOX 7927 DX R7TON 27 AR XOW L7270 190 1
NDY 929 MNT = PRI L(XP1T 711 YW ImnY NI
NIRT T LCWLWE 172 PYRIW PIR RIINDK ,OR 227)
o0 M (Y223 nPRW IPT3) oW CIRW TV - 1N
ONY (1w MI2 D22 ORIMXR LI MY 99
:ORIDY DR PR 7T 27 P DR nynw - SR
(TR YOP) YR NI Yup) NRY op wesh
Ypwa DwIY 7n ,737132 10NW TP — (R’ 110N
$(7TI° 277 DRINW) 19 IR - 30 WS = 2wMDnY
%29 .M Yw n1owY 17 Ypwn - neTad e
N M0 YW - 99w MO Yy AR - anpd
1% TINNW (PR D) T3 7D Yw IR (IR
DI73) (I 99 = 1Am OMIR XOAAW INRY NIvH
21 9% B2%%%0 RN (CIW 1172 PRIV IR CRINR
QIPNY INNW MIYNT DR PINY IR XTI -
M2495% 190Y N AMD 939 ;own (RXINY WD RW
17 027 13T Yw nMowy 19 mven amn -
Hax ,7371% I MINWRI NIRLA NI PIW M
,27130 MYY 227 1°RI ,TIARY WP WP IRW I



